
WJEC 2015 Online Exam Review

GCE BIOLOGY BY5 1075-01

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 5357 7.4 2.5 12 62 100

2 5356 6.4 2.2 10 64 99.9

3 5358 8.3 2.8 12 68.8 100

4 5358 7.3 2.6 12 61.2 100

5 5356 6.9 2.3 11 62.8 99.9

6 5355 7.1 2.2 13 54.9 99.9

7 5340 6.9 3 10 69.4 99.7
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GCE BIOLOGY BY5 1075-01 

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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GCE BIOLOGY BY5 


 
MARK SCHEME – SUMMER 2015 


 


Question Marking details Marks 
Available 


1     
 (a) (i) P – stigma, Q – ovary (wall) BOTH for 1 mark 1 


     


  (ii) Nectar; 1 


     


  (iii) attracts {insects / named insects}; 1 


     


 (b) I {Pollen / it} deposited on insect; 1 


  II {Pollen / it} transferred to stigma; 1 


     
 (c) (i) Anther and stigma touch same part of bee; 1 


     


  (ii) Anthers and stigma mature at different times / protandry; 1 


     


 (d) (i) Anther; 1 


     


  (ii) Meiosis; correct spelling 1 


     


  (iii) 10-----5-----5; 1 
     


  (iv) I fertilisation / it is the gamete / formation of the endosperm;  2 


   II controls the growth of the pollen tube (through the style);  


   Accept produce enzymes (to digest the style) 
NOT contain / hold enzymes (to digest the style)  


   Question 1 Total [12] 
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Sticky Note

1 mark - (sac) is neutral here.



Sticky Note

1 mark - correct response.



Sticky Note

1 mark - attracts the insect is correct. Sweet smelling etc. is neutral'.



Sticky Note

1 mark - The pollen grains stick to the insect is correct, the rest is neutral



Sticky Note

1 mark - 'the pollen grains brush off the insect onto the stigma' is correct, the rest is neutral.



Sticky Note

0 marks - this answer is general, it fails to recognise that pollen is being deposited on and picked up from the same part of the insect's body.



Sticky Note

1 mark - this is equivalent to 'anthers and stigmas mature at different times.'







Sticky Note

0 marks - 2.5 is incorrect, also candidates can be expected to know these values must be whole numbers. 



Sticky Note

1 mark - 'anther' is correct.



Sticky Note

1 mark - ' meiosis' is correct and spelt correctly.



Sticky Note

1 mark -  'my mitosis' instead of 'by mitosis' is clearly a slip and may be ignored. Technically only one of the nuclei formed is the male gamete but it may be treated as neutral here because details of double fertilisation are not required.



Sticky Note

0 marks - 'Forms the pollen tube is not sufficient, candidates need to show some understanding of the role the nucleus plays in the process in terms of control or directing enzyme synthesis.



Sticky Note

Question total - 9.
















Sticky Note

1 mark - P –‘stigma’ is correct, Q –‘ovary’  is correct.



Sticky Note

0 marks - 'nectaries’ is incorrect because the question asks for the substance not the structure.




Sticky Note

1 mark - ‘for attraction of insects’  is correct. ‘to make the flower’s smell good’ is neutral.



Sticky Note

0 marks - no reference to transfer of pollen to the insect.



Sticky Note

0 marks - ‘the pollen becomes attached to the bee' is incorrect, the rest of the answer is not in the correct context.	



Sticky Note

0 marks - The candidate’s response is general, it does not recognise pollen being deposited on and picked up from the same position on insect’s body.



Sticky Note

0 marks - no reference to male and female parts maturing at different times.







Sticky Note

1 mark - 10 correct, 5 correct, 5 correct.



Sticky Note

1 mark - ‘anther’ is correct.



Sticky Note

1 mark -  ‘meiosis’ is correct and spelt correctly.



Sticky Note

1 mark - Technically only one of the nuclei is the male gamete but it can be considered neutral here because details of the double fertilisation are not required.



Sticky Note

0 marks - ‘ creates the pathway for the pollen grain …’ is not sufficient. Candidates need to show some understanding of the role the nucleus plays in the process, in terms of control or directing enzyme synthesis. Also, only the nuclei travel through the tube, not the whole pollen grain.



Sticky Note

Question total - 6.
















Sticky Note

1 mark - ‘stigma’ is correct, ‘ovary’  is correct.



Sticky Note

0 marks - ‘nectary’ is incorrect	 because the question asks for substance not structure.	



Sticky Note

1 mark -‘To attract insects ...’  is correct 'source of nutrients...' is neutral.



Sticky Note

1 mark -  ‘the pollen is transferred from the anther of the plant to the insect’ is correct.



Sticky Note

1 mark - ‘the pollen is transferred from the insect’s body onto the stigma... ‘ is correct



Sticky Note

0 marks -  The candidate’s response is general, it does not recognise pollen being deposited on and picked up from the same position on insect’s body.



Sticky Note

0 marks - ‘the stamen are dead’ is not sufficient to award the mark for male and female parts mature at different times.	







Sticky Note

0 marks  - 10 correct - 10 incorrect - 5 correct.



Sticky Note

1 mark - ‘anther’ is correct  ‘of the stamen’ is neutral.



Sticky Note

1 mark - ‘meiosis’ is correct and spelt correctly.



Sticky Note

1 mark - description of male gamete is acceptable.	



Sticky Note

0 marks - the description given is of a nucleus derived from the generative nucleus.



Sticky Note

Question total - 7.












(1075-01)


Answer all questions.


1.	 The diagrams below show pollination in an insect-pollinated flower.


© WJEC CBAC Ltd.
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Examiner
only


	 (a)	 (i)	 Name parts:	 [1]


		  P  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  Q  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (ii)	 Name the substance produced by structure R.	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (iii)	 What is the function of this substance?	 [1]


	


	


	 (b)	 Describe what happens to the pollen in diagrams I and II.	 [2]


	 I.	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	 II.	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	 (c)	 Using the diagrams opposite, explain how these flowers are adapted to ensure that;


	 (i)	 there is effective pollen transfer between two flowers of the same species,	 [1]


	


	


	


	 (ii)	 self-pollination is avoided.	 [1]


	


	


	


© WJEC CBAC Ltd.
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Examiner
only


	 (d)	 The diagrams below show the formation of pollen grains.


© WJEC CBAC Ltd.


X


.. . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


Y


number of chromosomes


generative nucleus


tube nucleus
exine


	 (i)	 In which floral part does this take place?	 [1]


	


	 (ii)	 Name the cell process represented by arrows X and Y.	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (iii)	 The diploid number of this species is 10, underneath each structure indicated 
above, write the number of chromosomes in each nucleus.	 [1]


	 (iv)	 Give the functions of:


	 I.	 the generative (male) nucleus;	 [1]


	


	


	


	 II.	 the tube nucleus.	 [1]
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Question Marking details Marks 
Available 


3 (a) (i) Produce {gametes / sex cells} /  
halves chromosome number / produces haploid cells / 
introduce genetic variation; 


1 


     


  (ii) Testes / ovaries; 1 
     


 (b) (i) X–centriole AND Y–spindle (fibre) / microtubules; 1 


     


  (ii) div I  
2 chromosomes in each cell 1 big 1 little;  
straddling equator;  
Ignore lack of crossing over 
div II  
2 chromosomes in each cell 1 big 1 little; 
showing correct recombinants; 
 


4 


     


 (c)  1 pair reversed across equator; 1 


     


 (d) (i) Prophase I; NOT prophase alone 1 


     


  (ii) Drawing showing non sister chromatids crossing over;  
and parts being exchanged; Accept correct annotations or 
second diagram 


2 


     


  (iii) Crossing over / chiasmata; 1 


     
   Question 3 Total [12] 


  


© WJEC CBAC Ltd. 


 





		1. GCE BIOLOGY-HUMAN BIOLOGY MS SUMMER 2015 (English)_ Question 3.pdf

		GCE MARKING SCHEME

		BIOLOGY/HUMAN BIOLOGY

		AS/Advanced



		INTRODUCTION

		Page












Sticky Note

1 mark - ‘To produce gametes…’  is correct.



Sticky Note

1 mark - ‘testes and ovary’ is correct.	



Sticky Note

2 marks - 2 chromosomes drawn in each cell, 1 larger than the other; chromosomes drawn with centromeres on equator. 



Sticky Note

2 marks - 2 chromosomes drawn in each cell, 1 larger than the other; correct recombinants drawn.



Sticky Note

1 mark - ‘ X-centriole, Y-spindle fibres’  is correct.







Sticky Note

0 marks - chromosomes are drawn in non-homologous pairs.



Sticky Note

1 mark - ‘prophase 1’ is correct, ‘early’ is neutral.



Sticky Note

1 mark - drawing does not show non-sister chromatids overlapping; second drawing with annotations shows exchange of fragments for second marking point.



Sticky Note

1 mark  - ‘crossing over’ is correct.



Sticky Note

Question total - 10.












Sticky Note

1 mark - ‘To produce haploid gametes…’  is correct.	



Sticky Note

1 mark - ‘gonads’ is acceptable,‘(testes and ovaries)’ is correct.	



Sticky Note

0 marks -  ‘ X-centromeres’  is incorrect. Y-not attempted.



Sticky Note

2 marks - 2 chromosomes drawn in each cell, 1 larger than the other; chromosomes drawn with centromeres on equator. [ Note that long axis drawn at right angles to the equator suggests incorrect understanding, but benefit of doubt has to be applied because it is possible to draw the chromosomes like this when chromosomes are correctly positioned.]	



Sticky Note

2 marks -  2 chromosomes drawn in each cell, 1 larger than the other; correct recombinants drawn.				







Sticky Note

1 mark - smaller pair of homologous chromosomes is drawn reversed.



Sticky Note

1 mark - ‘prophase 1’ is correct.	



Sticky Note

2 marks - 1st drawing shows non-sister chromatids overlapping; 2nd drawing shows exchange of fragments.	



Sticky Note

1 mark - ‘crossing over at chiasma’ is correct.



Sticky Note

Question total - 11.












Sticky Note

1 mark - ‘Produce haploid gametes…’  is correct.



Sticky Note

1 mark - ‘testes and ovaries’ is correct



brianhughes

Sticky Note

1 mark - ‘ X-centriole, Y-spindle fibre’  is correct.



Sticky Note

1 mark -  4 chromosomes drawn in each cell is incorrect;  chromosomes drawn with centromeres on equator gets second marking point. 



Sticky Note

0 marks - 2 chromosomes drawn in each cell, however chromatids have not been separated; too many recombinants drawn.	







Sticky Note

0 marks - chromosomes drawn in non-homologous pairs.



Sticky Note

0 marks - ‘prophase ’ is correct, but 1st division is not specified.



Sticky Note

2 marks - drawing shows non-sister chromatids overlapping; drawing with annotations shows exchange of fragments.	



Sticky Note

1 mark - ‘crossing over’ is correct.	



Sticky Note

Question total - 7.
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Examiner
only3.	 (a)	 Meiosis is a type of cell division.


	 (i)	 State the purpose of meiosis.	 [1]


	


	 (ii)	 Name the organs in animals where meiosis occurs.	 [1]


	


	 (b)	 The diagram below represents meiosis in a cell with two pairs of chromosomes.


© WJEC CBAC Ltd.


equator


Cell Z


Division II


Division I


X . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


Y . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


Early Anaphase I


Metaphase II


Cells produced


	 (i)	 Label parts X and Y.	 [1]


	 (ii)	 Draw chromosomes in the cell outlines for:	 [4]


	 I.	 metaphase II
	 II.	 the cells produced
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Examiner
only


	 (c)	 The drawing of cell W below is an outline of another cell from the same individual as
		  cell Z. Complete the drawing of cell W to show how independent assortment could 


produce an alternative outcome.	 [1]


© WJEC CBAC Ltd.


Cell Z Cell W


	 (d)	 The drawing below shows the two larger chromosomes from cell Z at a different stage of 
meiosis.


	 (i)	 Name the stage of meiosis.	 [1]


	


	 (ii)	 Explain with the aid of diagrams how the larger chromosomes in cell Z took on the 
appearance shown in part (c).	 [2]


	 (iii)	 Name the process shown in your drawings.	 [1]
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Question Marking details Marks 
Available 


5 (a)  All the alleles (of all the genes) in a population; 1 


     
 (b) (i) The harder the food the {larger / wider / deeper} the beak/ 


 long beaks for flowers and fruits / wide beaks for eating seeds; 
1 


  (ii) The higher the CaM the longer the beak / low CaM results in 
short beak / ORA; 


1 


     


 (c) (i) Genetic drift / founder effect / or descriptions of ;   
Accept mutation 


1 


     


  (ii) Any 4 from: 
A. Birds with (high) CaM (allele) will have longer beaks; 
B. (birds with longer beaks) will get more food from cactus 


flowers / better adapted for feeding;  
C. (more of) these birds will survive, reproduce and  pass on 


their (high) CaM alleles to the next generation; 
D. CaM (alleles) will {become more common/ increase in 


frequency} in the next generation;  
E. use of {natural selection / selective advantage / survival of 


the fittest/ selection pressure} anywhere in the account, in 
the correct context; 


4 


     
 (d) (i) They are not able {to interbreed / or description of 


interbreeding} / breed or reproduce with each other and 
produce fertile offspring; 


1 


     
  (ii) • geographic isolation / correct reference to allopatric 


speciation; 
• over time develop adaptations which prevent 


successful breeding with original population / there is 
no flow of genes between the two populations / or 
description of example e.g. courtship behaviour; 


2 


     


   Question 5 total [11] 
  


© WJEC CBAC Ltd. 
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Sticky Note

1 mark - Benefit of doubt would be given here because without the word ‘number’ the answer would be correct.	







Sticky Note

1 mark - Clear link made between food source and beak shapes	



Sticky Note

1 mark - ‘A high amount of CaM produces an elongated beak.’ is correct.



Sticky Note

0 marks - answer does not apply to early generations. 



Sticky Note

1 mark ‘….so it produces CaM and it had a long beak’ gets marking point A	



Sticky Note

1 mark - ‘it had a selective advantage …’ gets marking point E,



Sticky Note

0 marks - ‘It could eat the cactus flowers’ does not quite get marking point B



Sticky Note

1 mark - ‘so survived, bred and passed on the beneficial allele producing CaM to its offspring’ gets marking point C.



Sticky Note

1 mark  ‘..therefore the frequency of the allele increased.’ gets marking point D.







Sticky Note

1 mark - ‘They cannot interbreed to produce fertile offspring.’ is correct.



Sticky Note

2 marks - ‘The population became geographically isolated …’ gets first marking point; ‘ Over  time, …………developed to adapt…’ gets second marking point.



Sticky Note

Question total - 10.












Sticky Note

0 marks - Answer does not refer to all the alleles and uses ‘species or environment’ instead of population.







Sticky Note

1 mark - Clear link made between food source and beak shapes.



Sticky Note

1 mark - ‘The lower the CaM the shorter the beak.’ is correct.	



Sticky Note

1 mark - ‘only a sample of the alleles by chance would’ve been blown over’ is a description of the founder effect.  The rest of the answer is neutral.



Sticky Note

1 mark - ‘finches with high CaM had a selective advantage …’ gets marking point E.



Sticky Note

1 mark - ‘… better adapted for feeding on cactus flowers’  gets marking point B.



Sticky Note

1 mark - ‘.. these finches would survive and  reproduce passing on their favourable allele of high CaM ’ gets marking point C.







Sticky Note

1 mark - ‘They cannot interbreed to  successfully produce fertile offspring.’ is correct.



Sticky Note

1 mark - There is no reference to isolation first marking point;‘ no longer reproduce with each other due to their different adaptations.’ gets second marking point.



Sticky Note

Question total - 8.












Sticky Note

0 marks - The use of the word ‘gene ’instead of ‘allele’ makes this incorrect.







Sticky Note

1 mark –‘ + the finches best adapted to feed on cactus flowers’ gets marking point B.	



Sticky Note

1 mark - ‘Due to increased competition for food, natural selection occurs.’ gets marking point E.



Sticky Note

1 mark - Clear link made between food source and beak shapes.



Sticky Note

1 mark - ‘so  more survive, breed and pass on the beneficial allele of high CaM to their offspring’  gets marking point C.



Sticky Note

1 mark - ‘As the CaM concentration increases, the beak becomes longer/more elongated.’ is correct.	



Sticky Note

0 marks - The answer does not apply to early generations. 







Sticky Note

1 mark -‘An isolating mechanism - geographical…’ gets first marking point; The rest of the answer is not sufficient to get the second marking point.	



Sticky Note

0 marks - This answer does not make it clear that the two types of finches are unable to interbreed.



Sticky Note

Question total - 6.
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Examiner
only


5.	 Finches that inhabit the Galapagos Islands (which include the islands of Genovesa and 
Champion) have become known as Darwin’s Finches. They provide useful evidence to support 
a gene pool model of speciation.


	 (a)	 Define the term ‘gene pool’.	 [1]


	


	


	


	 (b)	 There is a strong correlation between the size of finches’ beaks and the size of the seeds 
the beak is able to crack. Recent research has shown that two proteins are involved in 
controlling beak size:


		  Bone promoting molecule 4 (Bmp4) and calmodulin (CaM)


		  The diagrams below show links between the two molecules, beak shape and food source.


© WJEC CBAC Ltd.


de
pt


h


widthlength


Cactus Finch Large Cactus Finch Medium Ground Finch Large Ground Finch


Low Bmp4
Low Beak Depth/Width


Low Bmp4
Low Beak Depth/Width


Low-Mod. Bmp4
Medium Beak Depth/Width


Mod. Bmp4
Medium Beak Depth/Width


Early/High Bmp4
High Beak Depth/Width


Low CaM
Short Beak


Low CaM
Short Beak


Low CaM
Short Beak


High CaM
Elongated Beak


High CaM
Elongated Beak


probing cactus
flowers/fruit


crushing
seeds


crushing hard/
large seeds


probing cactus
flowers/fruit


Sharp-beaked Finch


mixed diet of seeds and insects


beak shape
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Examiner
only	 (i)	 Describe the link between beak shape and food source.	 [1]


	


	


	


	 (ii)	 Describe the link between CaM and beak shape.	 [1]


	


	


	


	 (c)	 One theory for the evolution of the different species of Darwin’s Finches is that a small 
population of Sharp-beaked Finch (Geospiza dificilis) was blown onto one of the islands 
from mainland South America. Over many generations they became adapted to feed on 
the different food sources available.


	 (i)	 Give one reason why, in the early generations of the island colony, the frequencies 
of the alleles responsible for producing Bmp4 and CaM might have differed from 
their frequency in the mainland population.	 [1]


	


	


	


	 (ii)	 Explain how, in subsequent generations, the frequency of the allele responsible for 
producing CaM would have increased on an island where the main food source was 
cactus flowers.	 [4]
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(1075-01)


Examiner
only


	 (d)	 The Large Cactus Finch (Geospiza conirostris) from the island Genovesa has a beak 
that closely resembles that of the Cactus Finch (Geospiza scandens) from the island 
Champion.


	 (i)	 State why these two finches are considered to be separate species.	 [1]


	


	


	 (ii)	 Explain why they evolved into separate species.	 [2]


	


	


	


	


	


© WJEC CBAC Ltd.
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